
Location: Oklahoma City, USA
Date of completion: 2018
Area: 1 709 m2

Shop Drawings: 107 pcs @ ARCH D
Contractor: CB Products & Q-VENT

OU MEDICAL CENTER
PERKINS+WILL

Scope of Services:

Shop drawings for terracotta wall cladding. 

4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3" 4'-3"

221'-0" OVERALL
℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄ ℄

2F 2E 2D

AL
IG
N 

JO
IN
T 

W
/ 

AX
IS
 2

E

AL
IG
N 

JO
IN
T 

W
/ 

AX
IS
 2

D

AL
IG
N 

JO
IN
T 

W
/ 

AX
IS
 2

F
2F 2E 2D

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

1
2" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112"

1'-
11"

 T
O 

5F

AC
C 
1A

/A
30

-0
8-

1N

3'-9 5/16" * 5 = 18'-10 3/8"

3'-9 516 "

R8
'-
71 8"

4A

5F

1'-0" TO 4A
ACC 2/A32-21-1N

R7
'-
0"

AC
C 
2/

A3
2-

21
-1
N

7'-0"
ACC 2/A32-21-1N

7'-0
"

ACC
 2/A

32-2
1-1N

1'-7 1
8 "

1'-7
1
8"

1'-
11"

2'-
4"

4'
-3

"

4'-3"

4'-3"

3'-9 5
16 "

ARC=3'-9 11/16"

ARC=3'-9 11/16"
ARC=3'-9 11/16"

ARC
=3'-

9 11
/16"

AR
C=
3'-

9 
11/

16"

ARC=19'-0 5/16"

3'-9516"

3'-9
5
16
"

3'-
9
5

16
"

1O

NORTH

- EAST ELEVATION A

SEE 209.01

- N
OR

TH
-W

ES
T E

LE
VA

TIO
N

SE
E 

20
7.

00

3'-91116"3'-91116"
℄ ℄ ℄ ℄ ℄ ℄

28
'-
2"

3'
-0

"
10
'-
2"

4'
-0

"

13
'-
5"

4'
-0

"
14

'-
0"

FFL
LEVEL 2+119'-2"

FFL
LEVEL 3+140'-4"

LINE TC
GRID+146'-4"

LINE TC
GRID+150'-4"

FFL
LEVEL 4+160'-6"

COPING CAP
TOP OF+164'-6"

3'-91116" 3'-91116" 3'-91116"

41
3 16
"

1'-
0" 1'-

0"1'-
0" 1'-

0"1'-
0" 1'-

0"1'-
0" 1'-

0"1'-
0" 1'-

0"1'-
0"

1'-
0"1'-

0" 1'-
0"1'-

0" 1'-
0"1'-

0" 1'-
0"1'-

0" 1'-
0"1'-

0" 1'-
0"1'-

0" 1'-
0"1'-

0"
2"

10
"

BTC
+132'-11"

BTC
+134'-11 3/16"5"

1'-51116" 2'-4 1
16" 1'-414" 2'-538" 3'-51116"

4"

3'-91116"

8516"

3'-138"

BTC
+135'-5 3/16"

2K 2J2J.9

6'
-1
11 4"

A3
1-
05

-1
N 

& 
A3

3-
03

-1
N 

(T
27

)
3'
-0

"
A3

1-
05

-1
N

8'
-8

3 4"
A3

1-
05

-1
N

1'-
0"

3'
-7

3 4"
4'
-0

"
11
'-
0"

18
'-
93 4"

FFL
LEVEL 3+140'-4"

LINE TC
GRID+150'-4"

LEVEL 4
FFL

+160'-6"

COPING CAP
TOP OF+161'-6"

418"
 TO AXIS 2J.9

2'
-4

1 4"

1'-
6"

LINE TC
GRID+146'-4"

OF TERRACOTTA
BOTTOM+142'-8"

412"

2"

17'-578"
 STUD TO AXIS 2J

17'-1038" FF TC TO AXIS 2J
 ACC 3/A32-05-1N

EXISTING ROOF

EXISTING PARAPET

2J.92K

5
16"

PANEL

5
16
"

PA
NEL

1/4 GRID DIM GRID1/4 GRID DIM

REF INS
TALLAT

ION PLA
N

1/4 
GRID

 DIM

13 16
"

15 8" RA
IL

1 8"

1"
23 4"

3 4"

41 2"
FA

CE
 O

F 
PA

NE
L 

TO
 S

TU
D

1'-
2"

1'-
2"

41 2"

FA
CE

 O
F 

PA
NE

L 
TO

 S
TU

D

GR
ID

℄

℄

1/4
 GR

ID D
IM

REF
 IN

ST
AL

LA
TIO

N P
LA

N

41 2"

FA
CE
 O
F 
PA

NE
L 
TO
 S
TU
D

1'-
2" ST
UD

15 8" RA
IL

R8'-7 18 "

(see schedule)
SELF-DRILLING SCREW 1/4-14

3/16" SHIM PACK AS REQ. (1/4" max)

Aluminum 1 9/16 x 2 3/8 x 1/8
TUBE

F-627Q OMEGA RAIL - PLAN

KERATWIN K20 PANEL (12in)

(see schedule)
SELF-DRILLING SCREW #10-16

Alu
min

um
 1 
9/1

6 x
 2 

3/8
 x 

1/8

TU
BE

F-6
27Q

 OM
EGA

 RA
IL

KER
AT
WIN

 K2
0 P

AN
EL 

(12
in)

GY
PS
UM
 SH

EA
TH
ING

 NO
T B

Y C
BP

FLU
ID-

AP
PLI

ED 
AIR

 BA
RR
IER

 NO
T B

Y C
BP

RO
CK 

MIN
ERA

L W
OO
L B

OA
RD
 NO

T B
Y C

BP

GYPSUM SHEATHING NOT BY CBP

FLUID-APPLIED AIR BARRIER NOT BY CBP

ROCK MINERAL WOOL BOARD NOT BY CBP

REF INSTALLATION PLAN

HAT or Z RAIL 1 7/8"

PANEL

GRID

1'-
0"

 G
RI
D

1'-
0"

GR
ID

℄

℄

23 8"
OV

ER
LA

P

3'
-1
0"

 T
O 

FF
L

7'-258" TO 6A
ACC 1/A32-02-1N

1
2"

GRID LINE
TOP OF TC+164'-4"

COPING CAP
TOP OF+164'-6"

℄

2"

412"
ACC 1/A32-02-1N

15 8"

4"

1"

13
16"

158"
RAIL

412"
FACE OF PANEL TO STUD

1'-2"
STUD

1
8"

3
4"

234"
3
4"

FACE OF PANEL TO AXIS

RE
F 

IN
ST

AL
LA

TI
ON

 P
LA

N
RE

F 
IN
ST

AL
LA

TI
ON

 P
LA

N

KERATWIN K20 PANEL (12 in)

F-627Q OMEGA RAIL

ROCK MINERAL WOOL BOARD NOT BY CBP

FLUID-APPLIED AIR BARRIER NOT BY CBP

GYPSUM SHEATHING NOT BY CBP

(see schedule)
SELF-DRILLING SCREW #10-16

HAT RAIL 1 5/8"

1/8" SHIM PACK AS REQ. (1/4" max)

(see schedule)
SELF-DRILLING SCREW 1/4-14

1/8" SHIM PACK AS REQ. (1/4" max)

SHEET METAL COPING CAP NOT BY CBP

ACC 1/A32-02-1N
THIS LEVEL IS +164'-5 12"

ARCH PLEASE CLARIFY

1'-
0"

GR
ID

3"
9"

11"

1'-
0"

GR
ID

℄

℄

1 4"
23 4"

FROM FFL
LINE TC
GRID+6'-2"

FROM FFL
LINE TC
GRID+3'-2"

OR

1"

13
16"

158"
RAIL

1
8"

234"
3
4"

ROCK MINERAL WOOL BOARD NOT BY CBP

13
16"

158"
RAIL

1
8"

KERATWIN K20 PANEL (12 in)

F-627Q OMEGA RAIL

HAT RAIL 1 5/8"

(see schedule)
SELF-DRILLING SCREW #10-16

FORMED ALUMINUM SILL NOT BY CBP

BELOW
KERATWIN K20 PANEL (12 in)

1/8" SHIM PACK AS REQ. (1/4" max)

(see schedule)
SELF-DRILLING SCREW 1/4-14

1'-2"
STUD

1'-
0"

GR
ID

1'-
0"

GR
ID

GR
ID

GR
ID

℄

℄

℄

℄

5
8"

1
2"

RE
F 

IN
ST

AL
LA

TI
ON

 P
LA

N
RE

F 
IN
ST

AL
LA

TI
ON

 P
LA

N

1'-
0"

GR
ID

LEVEL 3+140'-4"

1"

13
16"

158"
RAIL

412"
FACE OF PANEL TO STUD

1
8"

5
8"

234"
3
4"

FACE OF PANEL TO AXIS

RE
F 

IN
ST

AL
LA

TI
ON

 P
LA

N
RE

F 
IN
ST

AL
LA

TI
ON

 P
LA

N

1'-2"
STUD

1"

13
16"

158"
RAIL

412"
FACE OF PANEL TO STUD

1
8"

118"

234"
3
4"

F-627Q OMEGA RAIL

KERATWIN K20 PANEL (12 in)

J RAIL 1 5/8"

(see schedule)
SELF-DRILLING SCREW #10-16

ROCK MINERAL WOOL BOARD NOT BY CBP

FLUID-APPLIED AIR BARRIER NOT BY CBP

GYPSUM SHEATHING NOT BY CBP

J RAIL 1 5/8"

(see schedule)
SELF-DRILLING SCREW #10-16

HAT RAIL 1 5/8"

(see schedule)
SELF-DRILLING SCREW #10-16

F-627Q OMEGA RAIL

KERATWIN K20 PANEL (12 in)

(see schedule)
SELF-DRILLING SCREW 1/4-14

1/8" SHIM PACK AS REQ. (1/4" max)

(see schedule)
SELF-DRILLING SCREW 1/4-14

(see schedule)
SELF-DRILLING SCREW 1/4-14

1/8" SHIM PACK AS REQ. (1/4" max)

(see schedule)
SELF-DRILLING SCREW 1/4-14

1/8" SHIM PACK AS REQ. (1/4" max)

(see schedule)
SELF-DRILLING SCREW 1/4-14

1/8" SHIM PACK AS REQ. (1/4" max)

2F 2E 2D

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

11
9 

11
/1
6

62
7-

83
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

13
3 

7/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

62
7-

95
 1
1/
16

62
7-

16
7 

11
/1
6

62
7-

16
7 

11
/1
6

1
2" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112" 2'-112"

PAGE 06

ST
UD

IO
 CA

D
PAGE 07

DESIGN PORTFOLIO

http://www.cb-products.com/
http://q-vent.eu/
https://www.studio-cad.com/portfolio-2/ou-medical-center-oklahoma-city-usa/
https://perkinswill.com/

